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Explain in detail the recominendations of the Fourteenth

Finance Commission. 15

ffi tqr srr+'r 61 ftI'flM 61 fERR.d qngt

o1frqr (

13. JAM is helpful in increasing the efliciency of the govemment

schemes. Explain how ? 15

rAM qrfir$ +rfl3if o1 <r-tr r6ri d e6lr5 t,
t6,-q 7 qr€qr firFfrqr
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and carry l0 marks each.
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This question paper has three Sections A, B and C

In Seciion A a// questions are compulsoryI
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In Section B candidates have to attempt

only /ve questions which carry 08 marks each.

In Section C. candidates have to attempt

only oze question which caries 15 marks.

W eFrtH t ntr so-s A, B qd c tl
so-sA + q$ c[i stffi t

s-d6 yfi lo oi+1 fiT tt
qo-s B d * isifi qi's e{fr * r.n dfqS,

y-&+' ctl oa ei+J w tr
icg's c d t ffi q{. ysr sT tsiR {fqq,

ys.F, ys-{ ls oi+i !5I tr

Section A

(urg 
^;

(a\ Suppose in an economy the componenta of the budget

. for a year are given as :

Tax Revenue = Rs. 940 Million

Non-Tax Revenue = Rs. 105 Million

Recoveries of Loan = Rs. 20 Million

(7 ) z)v t

Explain the changes in India's merchandise trade in recent

years. 8

((

((
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II.

qrcd fr Er€ El + etr I Eq vcvn-ervn d qfu-ft 61

qrcqr a1fuqr

10. What do you undersrand by 'skill gap, ? Discuss rhe initiatives

taken by the Covernment of India to bridge this gap. 8

dvro er<ro i s{rc Hr qcsi t ? gv er<nro +)

rr{i + ftA qr.d rR-d-R Br{r sdq rr} q-qd q1 Eqf

e1FsSr

Section C

(utrg tl

Discuss the trends of health indicators in lndia and analyse

India's performance in Human Developmenr Indicators in

global perspective. 8,7

.{r1n q sr€q {q-{ir m"r rgm t6.r quH qilrsTq dqr Isrq

cFdg i qr;rq fq*ls W-6i6F i[ qRR + Tfih ft1

friqtr oifqqr
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Section B

' (urg s)

Explain the process of preparation of the Union Budget in

India. 8

qnd d ffiq qqa e1 ffi 61 yt*-qr or qui-t

ilrqql

What do you understand by fiscal federalism in lndia ? 8

qnd d trq-+}+c {ssTE t +mrfir EFIT f,rfi{ t ?

Explain the economic classification of the Union Budget. 8

*:*q e-sr * srrldfr erfis-{ur s1 qreqr +lfuqr

What do you understand by JAM preparedness index ? 8

JAM irf,rkrl q-dsitF. t sIFrrET zFrT ffff-d t ?

7. What are the key.provisions of'Paris Agreement' ? 8

'qfrs scSA' * 3e xnun flr t ?

What steps have been taken in India to counter environmental

degradatioi 2 8

qqffiq qfifr t ffi + foq qrm q q\-ffi
Hsqga+T+t ?
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Disinvestmert = Rs. l0 Million

Revenue Expenditure = Rs. 1,503 Million

Capital Expenditure = Rs. 160 Million

Calculate:

(r) Revenue deficit

(ri) Fiscal deficir

(b) Write short notes on the following:

(r) Consolidated fund of India

2507

t

a

(rr) Outcome budget

ir'r) Demand for grants. .:2

(a) qHr id. qs. s]+qir{ql t ffi q{ * fu} qs-.

* qe* w v-*'n fri rrA t :

ih-{ IllrEr = eas frfufi Eq+

tr-q"r rrqs = ros ftferqq rqA

_ ftuI q,1 fr: qrk = 2e fqfuqr rqi

fqfr+{r: 1s ftfuq1 tqA

{q€ q.r = 1,5s3 frfufi Eqa

fqr q'.r = 160 fqFfrqr ETq
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Tm dfrq :

o IIEr€ qrcr

(,, rrqft]*q qrat

(b') FTqfdf€( c"r tlsrR ffi fdfuS

(, qrtd *1 {fu f{ftr

(r, qfrwfr vtn-a

(,i, wgcn +1 altr r

(o) Write short notes on the following :

O Current account deficit

(,r) lnvisibles

(iir) External commercial borrowings. ZZ2

(b\ Suppose in an economy the transactions wilh the resr

of the world are given as : (

Exports - Rs. 430 Million

Impons - Rs. 570 Million

lnvisibles (net) - Rs.75 Million

Extemal Bonowings - Rs. 40 Million

FDI (net) : Rs. 60 Million

Portfolio Inyestment (net): Rs. 130 Million

(5) 2507

Calculate

(, Current account deficit

(ir) Change in foreign exchange reserves. 22

(a) frqfdfiffi c{ rifEIR E"t"fr fefisS :

01 qrq grdr srcl

(r,) er{W

(,,, qr6q qlq{Ilfuo gtlRt

(b) qrr tfrka gfi 
"fuu* 

d qr*1 fu-q d slq

gq dt fmfrtuc t ,

frqlo = +ro fcFsqr wa

$rFtkr = 57s ftkfi wi
q{c (Ts) = zs frkqr r,qt

srEq 3rm = 40 frfufi w+

vscr rqtff Fqvr (ud) = oo ffiqq Fqq

tc{ q{e Fr+yr ({-d) = 136 fif6qr Fq+

rrq+r tiiqq :

(,) qrq Elrdl SrA

(,, frt{ft ffiqq fqfq d qfitq,dr 
r

PTO.

250'7

(

2:

rJ

(

ar

(

I


